] 1 ] 6 ] 5 d7 4 ] 3 ] 2 ] 1

LR
EH MEES & =

1 JGW-D15460-3 End Plate 1 1

2 JISB 1180 - C M10 x 100 ;<FE7ARJL b (SUS316) SDC 3 F

3 JGW-D145460-12 Assembly stopper ITM for BF/SF 3

4 JIS B 1176 M6 x 28 FRAIFAIL b (SUS304) 6

5 JGW-D15460-1 Fram Lock 1
E
D

Unless otherwise specified:

All dimensions are in millimeters (mm).
Tolerances: JIS B 0419-mK

Machining finish: Ra25

Edge breaks: 0.2x45°

Project
KAGRA Type-A VIS
- Assembly_EndPlate_Assyl_with_ReleageSen:

Material

i 3
Assembly End Plate Assyl
NAME DATE __[P=inate =
Designed Tehizaki JGW-D1605460 _
Drawn Ishizaki 2017/08/01 ““'I;HIRD ANGLE PROJECTION ;5
checked ~)J National Astronomical| A2
1

Approved stonal Asroromal ObServatory of Japan [1
| ! | [§ | ) Ll; 4 | 3 | 2 | 1



] 2 ] 1
BB S 5
EH MEES 2 =
1 JGW-D1605460-4 End Plate 2 1
2 JIS B 1180 - C M10 x 100 ;RE7ARJL b (SUS316) SDC 3 F
3 JGW-D1605461 Assembly Dummy Payload 1
4 JGW D1605460-12 Assembly stopper ITM forDP 3
5 JIS B 1176 M6 x 28 FREAIYFAIL k (SUS304) 6

Unless otherwise specified:

All dimensions are in millimeters (mm).
Tolerances: JIS B 0419-mK

Machining finish: Ra25

Edge breaks: 0.2x45° —

" KAGRA Type-A VIS

o
Assembly_EndPlate_Assy2_with_ReleageSen:
G 3
Assembly End Plate Assy2
NAME DATE
—— " JGI-D1605460 1
Drawn Ishizaki 2017/08/01 THIRD ANGLE PROJECTION i)
Checked INAR)J National Astronomical| A
/

Approved stonal Asroromal ObServatory of Japan [1
| ! | [§ | ) Ll; 4 | 3 | 2 | 1



